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Collecting openai
Downloading openai-1.42.0-py3-none-any.whl.metadata (22 kB)
Requirement already satisfied: anyio<5,>=3.5.0 in /usr/local/lib/python3.10/dist-
packages (from openai) (3.7.1)
Requirement already satisfied: distro<2,>=1.7.0 in /usr/lib/python3/dist-packages
(from openai) (1.7.0)
Collecting httpx<1,>=0.23.0 (from openai)
Downloading httpx-0.27.2-py3-none-any.whl.metadata (7.1 kB)
Collecting jiter<1,>=0.4.0 (from openai)
Downloading jiter-0.5.0-cp310-cp310-manylinux_2_ 17 x86_64.manylinux2014 x86_64.
whl.metadata (3.6 kB)
Requirement already satisfied: pydantic<3,>=1.9.0 in /usr/local/lib/python3.10/di
st-packages (from openai) (2.8.2)
Requirement already satisfied: sniffio in /usr/local/lib/python3.10/dist-packages
(from openai) (1.3.1)
Requirement already satisfied: tqdm>4 in /usr/local/lib/python3.10/dist-packages
(from openai) (4.66.5)
Requirement already satisfied: typing-extensions<5,>=4.11 in /usr/local/lib/pytho
n3.10/dist-packages (from openai) (4.12.2)
Requirement already satisfied: idna>=2.8 in /usr/local/lib/python3.10/dist-packag
es (from anyio<5,>=3.5.0->openai) (3.7)
Requirement already satisfied: exceptiongroup in /usr/local/lib/python3.10/dist-p
ackages (from anyio<5,>=3.5.0->openai) (1.2.2)
Requirement already satisfied: certifi in /usr/local/lib/python3.10/dist-packages
(from httpx<1,>=0.23.0->0penai) (2024.7.4)
Collecting httpcore==1.* (from httpx<1l,>=0.23.0->o0penai)
Downloading httpcore-1.0.5-py3-none-any.whl.metadata (20 kB)
Collecting h11<0.15,>=0.13 (from httpcore==1.*->httpx<1,>=0.23.0->0penai)
Downloading h11-0.14.0-py3-none-any.whl.metadata (8.2 kB)
Requirement already satisfied: annotated-types>»=0.4.0 in /usr/local/lib/python3.1
0/dist-packages (from pydantic<3,>=1.9.0->openai) (0.7.0)
Requirement already satisfied: pydantic-core==2.20.1 in /usr/local/lib/python3.1
0/dist-packages (from pydantic<3,>=1.9.0->openai) (2.20.1)
Downloading openai-1.42.0-py3-none-any.whl (362 kB)
362.9/362.9 kB 10.2 MB/s eta
Downloading httpx-0.27.2-py3-none-any.whl (76 kB)
76.4/76.4 kB 2.7 MB/s eta
Downloading httpcore-1.0.5-py3-none-any.whl (77 kB)
77.9/77.9 kB 4.1 MB/s eta
Downloading jiter-0.5.0-cp310-cp310-manylinux_2_ 17 x86_64.manylinux2014 x86_64.wh
1 (318 kB)

318.9/318.9 kB 11.4 MB/s eta
Downloading h11-0.14.0-py3-none-any.whl (58 kB)

58.3/58.3 kB 2.3 MB/s eta

Installing collected packages: jiter, hll, httpcore, httpx, openai

Successfully installed h11-0.14.0 httpcore-1.0.5 httpx-0.27.2 jiter-0.5.0 openai-
1.42.0
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import os
from openai import OpenAl

def init_api():
with open("chatgpt.env") as env:
for line in env:
key, value = line.strip().split("=")
os.environ[key] = value



init_api()

os.environ.get("API_KEY"))

OpenAI(api_key

client

print(client)

<openai.OpenAI object at 0x7d84e0452440>
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model = "gpt-4"

# First prompt to hashtags into a Python Llist
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response.choices[0].message.content

print(answer)

answer

i0J
K4

M
Ot

ic 16
O0H w0

RO i
-

Rl
Jl
ol
01

o

o)

ki

o)

oJ
Rl
o
<]

ol
o) 3

) <10
I o3

< <

i

LICE.

HN

®
)

&g

ol

s M2

o
hs

0l



S AE0AH 7|9E EE6}|

* ChatGPTOIAH HAEON 523t HHOE(F|HE)S Ot et 2¥st= oA
o AlAHI AAsh A B O AIX|O|A roleO] "system"9l {42 AlQ| d3tg MY

o ALEAF 27: roleO] "user" @l HA|X|= AFEXLZE AIOA R StH=
e Al2| E: roleO| "assistant" @l HA|X|= AIZF ALE XA SE

model = "gpt-4"
messages = [

{
"role": "system",
"content":
"GA2 MBS0 HAENAN SRet HE N 2HAE JIYPEE "
"EEE = UAEE 5= TR0|YLICH. IREE BAES =2 F=HE "
"LHEtL = JtE S8 @=L LU CH."
})
{
"role": "user",
"content":
"2l HAlE Of2EILel =3 M2, 09 J&l HES ¢
"MANOZ RESLC. 0= HI2LZUNA RS FRS BUOH,
"2 BN HAIAE JIES MIESULLO. 220es Ol dH=We 2 ¢
"ME22 S&0 LSLICH. HAle Od Xtell €285 28 =48 ZE0|
"SEole LS M = otUE ZEOrgrn UASLICH."
}J
{
"role": "assistant",
"content":
TIATRI2E BAINT, \"OFZHEILI\", \"ET &\", "
\"JIE\", \"HIE\", \"HIEL2LI\",
\"B\", \"OlAIAE\", \"O}2| MR=Y\", "
\OIFN\", \"EEEE2\", \"H 19 H\"]"
}J
{
"role": "user",
"content":
"JelAEO: SESE EE28Z S dx2, =2t AN sg0
"SEYEoZ RYEFLC. O MHAH SULOIEIESR dg HE2EZUHAM
"2 4832 AEULH, RUEANMN AU BIIEES 0l0HASLICH. "
"seSEeE MIOAHA 210 FHO SEN=Z JIEHN JA20, e xtel o
"HEEC2E SAGIJASLIC. 09 AWM =¥ HEE E2 A2 dx50
"= FO UASLILCEH."
s
{
"role": "assistant",
"content":
"[\"22AEIOlF SES\", \"E2S2A\", \"E7 Hd&\", "
A S\, \"SE\", \"MIHAE SUOEIES\", "
\"HY OFERIENT, \"SHSA\", \"BONA 2O\, "
\"EHO SEIN, \"ZEE2\", \"E™ HE\"]"
s
{
"role": "user",
"content":
"Hlol0te= Bt =7 dx2, stst E2En #E ZHolg "
"sEEUC MEAHMN B2E2 M HIEAZ LA 2I12E Ol Al
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client.chat.completions.create(

model,
messages,

¥
model
messages
max_tokens
temperature
print(response.choices[0].message.content)

response
answer

)
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